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OF:53

1) 0.6 × q + 3.9 = 4.2

q =

2) 9 + 3² − n × 2 = 4

n =

3) 15 ÷ 5 + (3 × 4) − t = −3

t =

4) (1.96 ÷ 1.4²) × v − 1.7 = 2.1

v =

5) 1.8 − 3.6 ÷ 0.9 × w = 1

w =

6) c ÷ 8 × 3 − 11 + 7 = 20

c =

7) 17 − (12 − 10)² + a = 19

a =

8) 19.2 + 7.2 × 5 − 11.8 = h

h =

Fill in the missing numbers.

Find the value of the variable.

1.4 + ( − 1.5) × 2.6 = 7.381) ÷ 3 × 5 − 12 + 9 = 422)

3² − 6 × + 2 = −13 3) 2.5 × 1.2 + 8.1 ÷ = 3.94)

÷ 2.5 + 5.5 = 2³5) (15 − × 4) + 18 = 216)
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1) 0.6 × q + 3.9 = 4.2

q =

2) 9 + 3² − n × 2 = 4

n =

3) 15 ÷ 5 + (3 × 4) − t = −3

t =

4) (1.96 ÷ 1.4²) × v − 1.7 = 2.1

v =

5) 1.8 − 3.6 ÷ 0.9 × w = 1

w =

6) c ÷ 8 × 3 − 11 + 7 = 20

c =

7) 17 − (12 − 10)² + a = 19

0.5

18

0.2

6a =

8) 19.2 + 7.2 × 5 − 11.8 = h

7

3.8

64

43.4h =

Fill in the missing numbers.

Find the value of the variable.

3.81.4 + ( − 1.5) × 2.6 = 7.381) 27 ÷ 3 × 5 − 12 + 9 = 422)

43² − 6 × + 2 = −13 3) 92.5 × 1.2 + 8.1 ÷ = 3.94)

6.25 ÷ 2.5 + 5.5 = 2³5) 3(15 − × 4) + 18 = 216)

Answer key
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